do/dp_ [pb/GeV]

Ratio to ATLAS

T

107t

[EEY

0.5

7000 GeV pp

I I I I I |

~ Jetp (pjTet>25 GeV) -
= m  ATLAS =
— -£1-- Pythia 6.428 391 .
B ~<¥-- Pythia 6.428 393 _
B ‘i@ - Pythia 6.428 394 —
— 5 Pythia 6.428 395 ]
~ .\'\i:'_‘\-\ ] -
~ N 3
— NN B
B .\'.;-‘.\ m

- LR =
- RS 3
- e 3
- N ]
u e ]
. | | — =
B _.‘|=£_._-_=5£ ----- ? —
— !55,Eg:::::::g:::::::-:saa;‘ -------- ]
- B J
| g e AN )

5'h jet p_[GeV]

Rivet 3.1.10, = 2.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


